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Bullfighting  Vs. Cricket 

First person : The national sport of Spain is bullfighting, and in 
England it’s cricket. 
Second person : I would rather play in England. 
First person : Why? 
Second person : I would rather fight crickets. 
First person :  

�

Sweat! 
“What is that which dries in the shade?” asked the first one. 
“Sweat” replied the second one. 
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Bullfighting Vs. Cricket
First person : The national sport of Spain is bullfighting, and in
England it’s cricket.
Second person : I would rather play in England.
First person : Why?
Second person : I would rather fight crickets.
First person :
�
Sweat!
“What is that which dries in the shade?” asked the first one.
“Sweat” replied the second one.
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